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Exercise 1

Prove: W 1,p
0 (Rn) = W 1,p(Rn).

Exercise 2

Let U be a bounded, open subset of Rn, and suppose ∂U is C1. Assume n < p ≤ ∞, and
u ∈ W 1,p(U). Then u has a version u∗ ∈ C0,γ(U), for γ = 1− n/p, with the estimate

‖u∗‖C0,γ(U) ≤ C‖u‖W 1,p(U).

The constant C depends only on p, n and U .

Exercise 3

Prove Theorem 1.29 in the Lecture (Rellich-Kondrachov): Let U be a bounded, open subset of
Rn, and suppose ∂U is C1. Assume 1 ≤ p < n. Then

W 1,p(U) ⊂⊂ Lq(U)

for each q ∈ [1, p∗).

Homepage: http://www.mathematik.uni-muenchen.de/˜soneji/pde2.php


